(BIR4) BKTERESE

S7ES 298 R

BTAE f = 4 1t
NG | wans R man HEREAT) K P 4RI S D 2
HEE Bl ﬁ}nliﬁfﬁzs.s, FHHIIFE=214, #0381 k= (5, 53.8), HEREFIIKRIIF],
BRIl FRtet=18.2, LM=B Il FiAsE=T.6, Wb FRtE=(5, 5.9), 38 )| [ KRBy K45 - @ K45
B IFI=33, £)IFRE=7.1, T )1I5RE=(9, 55),
AHIIFHE=43, 51| Fn=33, B 1| k= (7, 26),
L1 5iis=14.4, BE)135EE=1.9, BIRIE=(5, 1.9),
BEIIFE=17.2, FEIIFE=17 TENIFE=(9, 1.3)
FHiEH B I5RE=16.4 — —
L ThHET )Jéﬂiil:in:g:m, B )I5kE=135, — —
ERE=5.9
ST ILIET BEFE=11.2, #F2NFHE=77 — HEREFI[XKIIF]
ESE #iET BANE=18.7, FEIIFE=16.1, BB I 5R48=(5, 2.2), —
B8 )1E=2.3, AJlIliE=10.38, £A)lliE=(5, 10.8),
;ﬁﬁﬁillbzgzm.s, REE)IFiE=4.2, KEE)IIFRE=(5, 4.2),
BIJIGRE=2.7 YA )IFEE=(5, 2.6)
Bt B AiRE=18.8, E)IlFkig=14.9 — -
2 S HIIIGE=42, S8)I7E=36, =B FRE=(9, 2.8) EEN[ER-BER(TR)]
%;?ém;iﬁatze.a, REJIRE=168,
JIlRig=10.8
AEHT ANFE=37, fIRE=6 — EEHN[ERCTFR)]
EHAHE B)IRE=16.4, )IIF1E=7.3, — —
Rl Isa 1, =168,
FHIFRE=7.2, W& )FiE=5.2
FEpdL = i FHRIRE=8.3, AR JIRiE=4.8, INEEB)IRE= (5, 27), EJILKRM]T,
o )IFRiE=3.8, FiE)IIFRigi=4.6, FRIIRE=(5, 7.5), INEER I [RST]
FH) =77, FNEJIFRLE=5.1 FE IR E=(5, 5.1)
KR AR)IFE=3.6, Bz BR)IIFE=4.1, R I5RE=(8, 2.8), —
z;’&lnlb.zgzs, Bﬁlﬁgliﬁtﬁ&&s, Bz BMIFEE=(9, 4),
KRIIFR=9.2, JIFRIZ=12.7, $5&“|5ﬁ.1§§:(7, 42),
INEF N FRE=9.2, RIIFRE=2.5 RINFREE=(5, 9.2),
EEIFRE=(8, 12.6),
{éﬁiﬁi‘?ﬁ:(i 9.2),
RINFE=(7, 2.5
INEER T i#;m;zgzgg BI=lRE=64, ff?%ﬁ!!i;?’é;%?"”' NEBICER- B8 - KL
32 ML= 32 ati=(9,
Stk A NIGREE=10.8, FIE)IFREE=7.6, FNE)IFRE=(7, 7.8), FENILKRP],
TENIFRE=9.9 PR )| Fitsi=(5, 7.6) INRERIEIT]
FEEREE iK™ [E)IR%=43.9, 1M )IIF==7.9, FIE)IRE=(5, 1.5), ENL&]
TEEF )1 R=6.4, F&IiRE=3.9, FEX )= (5, 4.5)
AR FRiE=4.3, BENIFRE=15,
ERNE=1.3, FXIIFRE=7.2
M INRER NI GRiE=18, #%IT)IIE=5.6, INKER I RiE=(5, 18), INRER I [GEIR]

KRJIFRS=10, LLEA)IFRE=115,
KF)IFRLE=7.6, ith)IlFi=6.4

HR)RiE=(6, 8),
L JIFRE=(5, 11.5),
KIFNRE=(5, 7.6),
ARE=(5, 6.4)

Y (REREEY AEFEER ORASOEICIIREEERLTVET,




